@i)ﬁ.;}]kﬂk 7(? ’s—% "Q,TTLZIZW%’K( i/fi&\% ,}&uﬁ)i // 2

/§/e 4:/1(’ equativn
'f)(; 77 = =)¥nW) + x3 (¥>0) (ic),)

o')‘ FIIIC/ q ]’undlon f(x) 54'{’/)’]1//;7 fﬁ)-_)j‘\-f%.f,dd:n(¢J)]L(f”/y)0(d, (/f%)

3. (a) Find the Fourrer serres cif a /Derioa/fc ](ancfro/; whose Jo/fm‘t,‘on in one

Ferfod s
er)={? B FL Y (ol
A:m/)’ ODEXNEN
b) Laleulate : ) />‘3 +_3x_6 BL7_+ 7x7 /)
i) 743 = 342 7yl 7x7 (£7.) .

(/.(“)If ZI 3, J |74, a "f//—A/’/D can Z%’B)fz‘:a(/m// vector) a'/>/‘“'"
our cm§Wer },r/ef/ L WR)

(). Find the ol(’hl/ﬂ‘frl/e oj f XY3 at the point (1,3,3) ih the drrection 7‘

t[,e vectoy 31 - " \A//m‘ e {Ae maximum ,po{.(fé/e Ol,ye({,a/m/ c/e)’I (/41‘/[/0 «Df

J'- af'l’:/mf />0/nf c)nd W/;qf /s s c/,r(/-{',pn ) ‘A//Mf,j the e;aq-{'/a/t of
the tament plane to the ﬁuf«e f = constant ot Hhe point (1,3,3) 2 (4.

() Zlm/uafc’/;} RAo-, where S i< the furfﬁéf j the C// inder Xy <4l

02353, and B=ATHI R, (8])
_f () Ddermmf’ the characteristic punm bers (A1, ) and Corrp?"’ﬁall'y Hermition unit
er/enve((/vb’ (& ) f the /W//em
7XI""(Q+J1)X). =X
(3-0:1) XX = AHXa
where <%= -/, and verifj that ?, and ?; are 0”0!‘7’9"‘7/ h i%c l’/erm.‘{,wn
Senes . (6/)
B)If T is the coefficrent matrix of Hesysten of part (&) aud T s the
oy{/'o,,oqu/ modal matrix made up J/ ¢, and &, ve)’fj that :
s—)*eﬂv [)\ é- J (é/)
(C)Ij v=0r1, /) Je(ermme o) and ofy such that

\/ s e, tX%E,
where 8, and @, are the vectus determined in part (a).  (45s)

b. Cvafuate
j e b (1) ;
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